
Form B • Free Response	 Assessment Guide  AG31

Chapter 4 TestName 	   Date 	

Children should 	
draw 2 large 	
circles.

3

6 + 2 = 8, or 2 + 0 = 2
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Use the grids below for Problems 1 and 2.

	 3.	 What number sentence can help you find the  
missing number?

 

	 1.	 Draw the figures that  
are missing.

	 2.	 What number is missing?

	 	

Think_Math_G1.indb   31 3/2/11   9:12:03 AM



AG32  Assessment Guide	 Form B • Free Response

Name 	   Date 	 Chapter 4 Test

2

6

3

4

©
 S

ch
o

o
l S

p
ec

ia
lt

y

What number is missing?

Solve.

	 4.	 	  

  

	 5.	 	

	 6.	 Monica picks 4 flowers. 
Then she picks 2 more. 
How many flowers does she 
pick in all?

	 	

	 7.	 There are 8 swings.  
Some are red.  
The rest are blue. 
There are 2 more red 
swings than blue swings. 
How many blue swings  
are there?
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